HOSPITAL COSTS AND PRICING

St. Vincent Hospital has an overall variable costs of 30% of total revenue and fixed 

costs of $ 42 million per year.

1) Compute the break-in-point expressed in total revenue.

2) Patient-day is often used to measure the volume of a hospital. Suppose there are to be 50,000 patient days next year. Compute the daily average per patient necessary to break even. 

 MOTEL RENTALS

Suppose a particular Motel 6 (“We all leave the light on for you”) has annual fixed costs of $3.4 million for its 400-room motel, average daily room rent of $50, per average cost of $10 for each room rented. It operates 365 day per year.

1) How much net income on rooms will Motel 6 generate(a) if the motel is completely full throughout the entire year and (b) if the motel is half full?


2) Compute the break-even point in number of room rented. What percentage occupancy for the year is needed to break even?

COMPARING CONTRIBUTION MARGIN PERCENTAGE
Below are actual statements of operating income for Microsoft and Procter & Gamble (in millions) 

Microsoft






Procter & Gamble




Revenues


$28,365


Net Sales 


$40,238

Cost of Revenue
   
  5,191



Cost of products sold

  20,989

Sales and development 
   4,307

             Marketing, research and

Sales and marketing             5,407


Administrative expenses
  12,571

General and administrative   1,550


Operating income

 $6,678
       Operating income                11,910


Assume that the only variable cost for Microsoft is “cost of revenue” and for Protect & Gamble  it is  

“cost of products sold.”

1) Compute the contribution-margin percentage of Microsoft and that of Procter & Gamble. Why do you suppose the percentages are so different?

2) Suppose each company increases its revenue by $10 million. Compute the increase in operating income for each company.

3) Explain how the contribution margin percentage helps you predict the effects on operating income of changes in sales volume. What assumption do you make in forming such prediction?
